SAP ABAP table BIW JV COOR {Generated Table for View}
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" BIW JV_COORJV JIBSA = T8J6C-SUBCLASS.
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TOO0O
MANDT [CLNT (3)]

TO030

CLIENT [CLNT (3)]
AUART [CHAR (4)]

T8J6A
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
CLASS [CHAR (3)]

T8)6C

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CLASS [CHAR (3)]

SUBCLASS [CHAR (5)]

UBELASS 0N
BIW JV_ COOR-ETYPE = T8JG-ETYPE
BIW JV COOR-RECID = T8]]-RECID  0.N
BIW_JV_COORVNAME = TS]VVNAME = ¢
BIW JV COOR-KOKRS = TKAO1-KOKRS  0..N
""""" 0.N

T8)G
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
VNAME [CHAR (6)]
ETYPE [CHAR (3)]
EDATE [NUMC (8)]

T8J)
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
RECID [CHAR (2)]

T8V
MANDT [CLNT (3)]
BUKRS [CHAR (4)]
VNAME [CHAR (6)]

TKAO1
MANDT [CLNT (3)]
KOKRS [CHAR (4)]




